

County Distribution Detail Report through 09/04/2019

Aurora

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 6/2019 | 0 | 0 | 38 | 38 | \$47.50 | \$0.00 | \$47.50 | 0.70 | \$33.25 |
| 7/2019 | 1,170 | 1,857 | 49 | 3,076 | \$3,845.00 | \$103.09 | \$3,741.91 | 0.70 | \$2,619.34 |
| | | | | | | | Entity Total: | | \$2,652.59 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amour | nt: | \$2,652.59 |
| Beadle | | | | | | | | | |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 7/2019 | 3,955 | 10,285 | 189 | 14,429 | \$18,036.25 | \$377.86 | \$17,658.39 | 0.70 | \$12,360.87 |
| | | | | | | | Entity Total: | | \$12,360.87 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amour | nt: | \$12,360.87 |

Bennett

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 7/2019 | 919 | 1,070 | 12 | 2,001 | \$2,501.25 | \$58.70 | \$2,442.55 | 0.70 | \$1,709.79 |
| | | | | | | | Entity Total: | | \$1,709.79 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amoun | t: | \$1,709.79 |
| Bon Homme | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 7/2019 | 2,111 | 3,841 | 9 | 5,961 | \$7,451.25 | \$150.84 | \$7,300.41 | 0.70 | \$5,110.29 |
| | | | | | | | Entity Total: | | \$5,110.29 |
| | | | | | | | Adjustment: | | \$0.00 |

\$5,110.29

Total Amount:

Brookings

| Brookinge | | | | | | | | | | |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|--|
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount | |
| 7/2019 | 9,449 | 20,487 | 1,561 | 31,497 | \$39,371.25 | \$823.67 | \$38,547.58 | 0.70 | \$26,983.31 | |
| | | | | | | | Entity Total | : | \$26,983.31 | |
| | | | | | | | Adjustment | : | \$0.00 | |
| | | | | | | | Total Amou | nt: | \$26,983.31 | |
| Brown | | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount | |
| 7/2019 | 10,111 | 26,056 | 251 | 36,418 | \$45,522.50 | \$940.59 | \$44,581.91 | 0.70 | \$31,207.34 | |
| | | | | | | | Entity Total | : | \$31,207.34 | |
| | | | | | | | Adjustment | : | \$0.00 | |
| | | | | | | | Total Amou | nt: | \$31,207.34 | |
| Brule | | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount | |
| 7/2019 | 2,321 | 3,576 | 6 | 5,903 | \$7,378.75 | \$151.21 | \$7,227.54 | 0.70 | \$5,059.28 | |
| | | | | | | | Entity Total | : | \$5,059.28 | |
| | | | | | | | Adjustment | : | \$0.00 | |
| | | | | | | | Total Amou | nt: | \$5,059.28 | |
| Buffalo | | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount | |
| 7/2019 | 553 | 436 | 2 | 991 | \$1,238.75 | \$25.16 | \$1,213.59 | 0.70 | \$849.51 | |
| | | | | | | | Entity Total | : | \$849.51 | |
| | | | | | | | Adjustment | : | \$0.00 | |
| | | | | | | | | | | |

Butte

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 1/2019 | 0 | 8 | 0 | 8 | \$10.00 | \$0.00 | \$10.00 | 0.70 | \$7.00 |
| 7/2019 | 2,554 | 6,335 | 33 | 8,922 | \$11,152.50 | \$244.25 | \$10,908.25 | 0.70 | \$7,635.78 |

Total Amount:

\$7,642.78

\$849.51

Adjustment: \$0.00 Total Amount: \$7,642.78

Campbell

| Campbell | | | | | | | | | |
|----------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 7/2019 | 742 | 1,398 | 139 | 2,279 | \$2,848.75 | \$57.04 | \$2,791.71 | 0.70 | \$1,954.20 |
| | | | | | | | Entity Total | : | \$1,954.20 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$1,954.20 |
| Charles Mix | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 7/2019 | 2,764 | 5,339 | 15 | 8,118 | \$10,147.50 | \$208.67 | \$9,938.83 | 0.70 | \$6,957.18 |
| | | | | | | | Entity Total | : | \$6,957.18 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$6,957.18 |
| City of Box Elder, M | leade Co | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 7/2019 | 31 | 2,449 | 2 | 2,482 | \$3,102.50 | \$70.20 | \$3,032.30 | 0.70 | \$2,122.61 |
| | | | | | | | Entity Total | : | \$2,122.61 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$2,122.61 |
| City of North Sioux | City, Un | | | | | | | | |
| | | | | | | | | | |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 7/2019 | 926 | 2,662 | 101 | 3,689 | \$4,611.25 | \$127.21 | \$4,484.04 | 0.70 | \$3,138.83 |
| | | | | | | | Entity Total | : | \$3,138.83 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$3,138.83 |
| City of Sioux Falls, I | Lincoln (| | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 6/2019 | 0 | 0 | 2 | 2 | \$2.50 | \$0.00 | \$2.50 | 0.70 | \$1.75 |

| Reprint Period Alexan Law Sciency Sci | 7/2019 | 4,425 | 23,829 | 1,553 | 29,807 | \$37,258.75 | \$801.05 | \$36,457.70 | 0.70 | \$25,520.39 |
|--|------------------|---------------|----------------|-------|-------------|-------------|-----------|---------------|------|---------------|
| Agenting Period Alexan Lines Name Alex | | | | | | | | Entity Total | : | \$25,522.14 |
| Clark Reporting Poriol Aleacon Lines Wireles Lines Long Long Admin Pe Net Surcharg Med, Percent Percent Percent Surtharg Admin Percent Net Surcharg Net Surcharg </td <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>Adjustment</td> <td>:</td> <td>\$0.00</td> | | | | | | | | Adjustment | : | \$0.00 |
| Reporting Poriod Telecon Lines Wireless Lines VDIP Lines Total Lines Surcharge Admin Fee Net Surcharge Entity Anound Subsection 72019 1,388 2,386 11 3,733 34,686.25 S97.24 S4,580.01 53,198.31 72019 1,388 2,386 11 3,733 34,686.25 S97.24 S4,580.01 53,198.31 Adjustmenei E E E E S1,983.01 30,00 Total Amount 50,00 Col E E E E E S1,983.01 50,00 72019 1,757 7,390 197 63,44 S11,880.00 S260.69 S1,428.04 0.70 S8,000.30 72019 1,757 7,390 197 63,44 S11,880.00 S260.69 S11,428.04 0.70 S8,000.30 Codington E E E E S8,000.30 S00.00 S00.00 S00.00 S00.00 S00.00 S00.00 S00.00 S00.00 </td <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>Total Amou</td> <td>nt:</td> <td>\$25,522.14</td> | | | | | | | | Total Amou | nt: | \$25,522.14 |
| LinesLinesLinesLinesLinesPercentPercent720191.3062.328113.733\$4,666.25\$97.24\$4,660.010.70\$5.198.31720191.3062.32813.733\$4,666.25\$97.24\$4,660.010.70\$5.198.31Colspan=1000000000000000000000000000000000000 | Clark | | | | | | | | | |
| Roporting Poind Alexan Lines Values Saling and the second | Reporting Period | Telecom Lines | Wireless Lines | | Total Lines | Surcharge | Admin Fee | Net Surcharge | | Entity Amount |
| Algebra Harm Algebra Harm Algebra Harm Solution Solution Cop Second Parlo | 7/2019 | 1,396 | 2,326 | 11 | 3,733 | \$4,666.25 | \$97.24 | \$4,569.01 | 0.70 | \$3,198.31 |
| Reporting Period Relocan Lines Wireless Lines Nonp Cala Lines Sarebare Admin Fee MetSondare Benty Entity metabolistic 7/2019 1,727 7,330 1 9,340 511,60.00 525.06 511,42.04 6.01.00 58.00.03 7/2019 1,727 7,330 1 9,340 511.60.00 525.06 511,42.04 6.00.00 Entity Tell 1 9,340 511.60.00 525.06 511.42.04 6.00.00 50.00.00 Colspan=1 1 9,340 511.60.00 525.06 511.42.04 6.00.00 50.00.00 Colspan=1 1 1 9,340 511.60.00 511.60 511.60 50.00.00 <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>Entity Total</td> <td>:</td> <td>\$3,198.31</td> | | | | | | | | Entity Total | : | \$3,198.31 |
| Clay Reporting Period Telecom Lines Wireless Lines VOIP Lines Total Lines Surcharge Admin Fee Net Surcharge Entity period Entity Admintee 72019 1,767 7,300 197 9,344 \$11,000 \$250.00 \$11,420.40 0.00 \$80.000.30 72019 1,767 7,300 197 9,344 \$11,000.00 \$250.00 \$11,420.40 0.00 \$80.000.30 Collogion 5.5 5.5 5.5 \$80.000.30 \$80.200.30 \$80.000.30 \$8 | | | | | | | | Adjustment | : | \$0.00 |
| Reporting Period Telecon Lines Wireless Lines Yolp Tota Lines Surcharge Admin Fee Net Surcharge Entity Entity Amount 7/2019 1,757 7,309 197 9,344 311,800.00 3250.60 511,429.04 0.70 38,000.33 Current Lines Lines Lines Lines Lines Lines Lines Lines Lines S6,000.33 Codington Lines Lines< | | | | | | | | Total Amou | nt: | \$3,198.31 |
| LineLinesofPercent 72019 1,7777,3001979,344\$11,680.00\$250.96\$11,429.440.70\$8,000.33 72019 1,7777,3001979,344\$11,680.00\$250.96\$11,429.440.70\$8,000.33 $Adjustment:<$ | Clay | | | | | | | | | |
| Repring Period Resonance of the series of th | Reporting Period | Telecom Lines | Wireless Lines | | Total Lines | Surcharge | Admin Fee | Net Surcharge | | Entity Amount |
| Adjustment S0.00 Codington Reporting Period Neess Lines VOIP Total Lines Admin Fee NetSucharge Percent | 7/2019 | 1,757 | 7,390 | 197 | 9,344 | \$11,680.00 | \$250.96 | \$11,429.04 | 0.70 | \$8,000.33 |
| Second period < | | | | | | | | Entity Total | : | \$8,000.33 |
| Codington Reporting Period Telecom Lines Wirless Lines YOIP Total Lines Surcharge Admin Fee Net Surcharge Entity Period Entit | | | | | | | | Adjustment | : | \$0.00 |
| Reporting Period Telecom Lines Wireless Lines YOIP Lines Total Lines Surcharge Admin Fee Net Surcharge Entity Amount Percent 7/2019 7,647 18,686 224 26,557 \$33,196.25 \$713.51 \$32,482.74 0.70 \$22,737.92 7/2019 7,647 18,686 224 26,557 \$33,196.25 \$713.51 \$32,482.74 0.70 \$22,737.92 Lines Lines Lines Lines Lines Lines Lines \$22,737.92 Corson VOIP Total Lines VOIP Total Lines Line | | | | | | | | Total Amou | nt: | \$8,000.33 |
| Lines Lines n Percent $7/2019$ $7,647$ $18,686$ 224 $26,557$ $$33,196.25$ $$713.51$ $$32,482.74$ 0.70 $$22,737.92$ Lines $Lines$ | Codington | | | | | | | | | |
| Reporting Period Telecom Lines VOIP Total Lines Admin Fee Net Surcharge Percent Percent Percent Percent Percent Percent Statistication Stati | Reporting Period | Telecom Lines | Wireless Lines | | Total Lines | Surcharge | Admin Fee | Net Surcharge | | Entity Amount |
| Adjustment: Adjustment: \$0.00 Total Amount: \$22,737.92 Corson Telecom Lines Wireless Lines VOIP Lines Total Lines Surcharge Admin Fee Net Surcharge Percent Entity Amount 7/2019 1,210 654 112 1,976 \$2,470.00 \$51.48 \$2,418.52 0.70 \$1,692.96 1 1,976 \$2,470.00 \$51.48 \$2,418.52 0.70 \$1,692.96 1 1,976 \$2,470.00 \$51.48 \$2,418.52 0.70 \$1,692.96 1 1,976 \$2,470.00 \$51.48 \$2,418.52 0.70 \$1,692.96 1 1,976 \$2,470.00 \$51.48 \$2,418.52 0.70 \$1,692.96 1 1,976 \$2,470.00 \$51.48 \$2,418.52 0.70 \$1,692.96 1 1,976 \$2,470.00 \$51.48 \$2,418.52 0.70 \$1,692.96 1 1,976 \$2,470.00 \$51.48 \$2,418.52 0.70 \$1,692.96 1 1,976 \$1,976 \$1,976 \$1,976 \$1,976 <td>7/2019</td> <td>7,647</td> <td>18,686</td> <td>224</td> <td>26,557</td> <td>\$33,196.25</td> <td>\$713.51</td> <td>\$32,482.74</td> <td>0.70</td> <td>\$22,737.92</td> | 7/2019 | 7,647 | 18,686 | 224 | 26,557 | \$33,196.25 | \$713.51 | \$32,482.74 | 0.70 | \$22,737.92 |
| Admin Fee Net Surcharge Entity Entity Amount 7/2019 1,210 654 112 1,976 \$2,470.00 \$51.48 \$2,418.52 0.70 \$1,692.96 Fer Current Fer Current Fer Current Fer Current \$1,692.96 F | | | | | | | | Entity Total | : | \$22,737.92 |
| Corson Reporting Period Telecom Lines Wireless Lines YOIP Total Lines Surcharge Admin Fee Net Surcharge Entity Amount 7/2019 1,210 654 112 1,976 \$2,470.00 \$51.48 \$2,418.52 0.70 \$1,692.96 Lines Lines Lines Lines 1,692.96 7/2019 1,210 654 112 1,976 \$2,470.00 \$51.48 \$2,418.52 0.70 \$1,692.96 Lines LINES LINES LINES LINES Adjustment LINES LINES LINES LINES LINES LINES LINES LINES LINES LINES LINES LINES LINES LINES LINES LINES LINES LINES LINES LINES LINES LINES LINES | | | | | | | | Adjustment | : | \$0.00 |
| Reporting PeriodTelecom LinesWireless LinesVOIP LinesTotal LinesSurchargeAdmin FeeNet SurchargeEntity PercentEntity Amount Percent7/20191,2106541121,976\$2,470.00\$51.48\$2,418.520.70\$1,692.96Entity TotalFutureFutureFuture\$1,692.96Adjustment:51.48\$2,418.520.70\$1,692.96Adjustment:51.48\$2,418.520.70\$1,692.96 | | | | | | | | Total Amou | nt: | \$22,737.92 |
| Lines Percent 7/2019 1,210 654 112 1,976 \$2,470.00 \$51.48 \$2,418.52 0.70 \$1,692.96 Entity Total: \$1,692.96 Adjustment: \$1,692.96 | Corson | | | | | | | | | |
| Entity Total: \$1,692.96 Adjustment: \$0.00 | Reporting Period | Telecom Lines | Wireless Lines | | Total Lines | Surcharge | Admin Fee | Net Surcharge | | Entity Amount |
| Adjustment: \$0.00 | 7/2019 | 1,210 | 654 | 112 | 1,976 | \$2,470.00 | \$51.48 | \$2,418.52 | 0.70 | \$1,692.96 |
| | | | | | | | | Entity Total | : | \$1,692.96 |
| | | | | | | | | Adjustment | : | \$0.00 |
| Total Amount: \$1,692.96 | | | | | | | | Total Amou | nt: | \$1,692.96 |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|--------------|-------------------------|-------------------|----------------|
| 7/2019 | 3,655 | 5,465 | 39 | 9,159 | \$11,448.75 | \$255.18 | \$11,193.57 | 0.70 | \$7,835.50 |
| | | | | | | | Entity Total: | | \$7,835.50 |
| | | | | | | | Adjustment | | \$0.00 |
| | | | | | | | Total Amou | nt: | \$7,835.50 |
| Davison | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 7/2019 | 5,179 | 13,723 | 113 | 19,015 | \$23,768.75 | \$486.43 | \$23,282.32 | 0.70 | \$16,297.62 |
| | | | | | | | Entity Total: | | \$16,297.62 |
| | | | | | | | Adjustment | 1 | \$0.00 |
| | | | | | | | Total Amou | nt: | \$16,297.62 |
| Day | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 7/2019 | 2,264 | 3,524 | 8 | 5,796 | \$7,245.00 | \$147.64 | \$7,097.36 | 0.70 | \$4,968.15 |
| | | | | | | | Entity Total: | | \$4,968.15 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$4,968.15 |
| Deuel | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 7/2019 | 1,850 | 2,898 | 11 | 4,759 | \$5,948.75 | \$126.88 | \$5,821.87 | 0.70 | \$4,075.31 |
| | | | | | | | Entity Total: | | \$4,075.31 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$4,075.31 |
| Douglas | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| | | | | | | * *** | • / ••• • | | AA AA A |

3,448

4

\$4,310.00

\$89.25

\$4,220.75

Entity Total:

Adjustment:

Total Amount:

0.70

\$2,954.53

\$2,954.53

\$2,954.53

\$0.00

1,285

7/2019

2,159

Edmunds

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 7/2019 | 1,319 | 2,884 | 20 | 4,223 | \$5,278.75 | \$108.05 | \$5,170.70 | 0.70 | \$3,619.49 |
| | | | | | | | Entity Total: | | \$3,619.49 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amour | nt: | \$3,619.49 |
| Fall River | | | | | | | | | |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|
| 7/2019 | 3,415 | 4,515 | 31 | 7,961 | \$9,951.25 | \$206.29 |

| Entity Total: | \$6,821.47 |
|---------------|------------|
| Adjustment: | \$0.00 |
| Total Amount: | \$6,821.47 |

Entity

0.70

Percent

Entity Amount

\$6,821.47

\$0.00

Net Surcharge

\$9,744.96

Adjustment:

Faulk

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 7/2019 | 781 | 1,484 | 13 | 2,278 | \$2,847.50 | \$57.40 | \$2,790.10 | 0.70 | \$1,953.07 |
| | | | | | | | Entity Total: | | \$1,953.07 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amou | nt: | \$1,953.07 |

Grant

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 7/2019 | 2,223 | 5,225 | 28 | 7,476 | \$9,345.00 | \$191.73 | \$9,153.27 | 0.70 | \$6,407.29 |
| | | | | | | | Entity Total: | | \$6,407.29 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amoun | t: | \$6,407.29 |
| Gregory | | | | | | | | | |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 7/2019 | 1,898 | 3,415 | 14 | 5,327 | \$6,658.75 | \$145.17 | \$6,513.58 | 0.70 | \$4,559.51 |
| | | | | | | | Entity Total | : | \$4,559.51 |

Total Amount: \$4,559.51

Haakon

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 7/2019 | 1,067 | 1,365 | 6 | 2,438 | \$3,047.50 | \$61.10 | \$2,986.40 | 0.70 | \$2,090.48 |
| | | | | | | | Entity Total: | | \$2,090.48 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amoun | t: | \$2,090.48 |

Hamlin

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 7/2019 | 1,645 | 3,581 | 69 | 5,295 | \$6,618.75 | \$133.51 | \$6,485.24 | 0.70 | \$4,539.67 |
| | | | | | | | Entity Total: | | \$4,539.67 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amoun | t: | \$4,539.67 |

Hand

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 7/2019 | 1,109 | 2,647 | 13 | 3,769 | \$4,711.25 | \$104.15 | \$4,607.10 | 0.70 | \$3,224.97 |
| | | | | | | | Entity Total: | | \$3,224.97 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amoun | t: | \$3,224.97 |

Hanson

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 7/2019 | 944 | 3,013 | 22 | 3,979 | \$4,973.75 | \$104.18 | \$4,869.57 | 0.70 | \$3,408.70 |
| | | | | | | | Entity Total: | | \$3,408.70 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amoun | ıt: | \$3,408.70 |
| Harding | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 7/2019 | 703 | 871 | 2 | 1,576 | \$1,970.00 | \$49.63 | \$1,920.37 | 0.70 | \$1,344.26 |
| | | | | | | | Entity Total: | | \$1,344.26 |

Adjustment: \$0.00 Total Amount: \$1,344.26

Hughes

| Hugnes | | | | | | | | | |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 7/2019 | 4,434 | 14,146 | 1,617 | 20,197 | \$25,246.25 | \$564.58 | \$24,681.67 | 0.70 | \$17,277.17 |
| | | | | | | | Entity Total | : | \$17,277.17 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | int: | \$17,277.17 |
| Hutchinson | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 7/2019 | 3,016 | 5,075 | 46 | 8,137 | \$10,171.25 | \$221.40 | \$9,949.85 | 0.70 | \$6,964.90 |
| | | | | | | | Entity Total | : | \$6,964.90 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | int: | \$6,964.90 |
| Hyde | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 7/2019 | 649 | 1,076 | 4 | 1,729 | \$2,161.25 | \$43.96 | \$2,117.29 | 0.70 | \$1,482.10 |
| | | | | | | | Entity Total | : | \$1,482.10 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | int: | \$1,482.10 |
| Jackson | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 7/2019 | 686 | 849 | 1 | 1,536 | \$1,920.00 | \$38.91 | \$1,881.09 | 0.70 | \$1,316.76 |
| | | | | | | | Entity Total | : | \$1,316.76 |
| | | | | | | | Adjustment | : | \$0.00 |

Jerauld

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 7/2019 | 862 | 1,252 | 2 | 2,116 | \$2,645.00 | \$54.63 | \$2,590.37 | 0.70 | \$1,813.26 |

\$1,316.76

Total Amount:

| | | Entity Total: | \$1,813.26 |
|-------|--|---------------|------------|
| | | Adjustment: | \$0.00 |
| | | Total Amount: | \$1,813.26 |
| Jones | | | |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 7/2019 | 592 | 685 | 3 | 1,280 | \$1,600.00 | \$32.09 | \$1,567.91 | 0.70 | \$1,097.54 |
| | | | | | | | Entity Total: | | \$1,097.54 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amou | nt: | \$1,097.54 |

Kingsbury

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 7/2019 | 923 | 3,920 | 467 | 5,310 | \$6,637.50 | \$135.49 | \$6,502.01 | 0.70 | \$4,551.41 |
| | | | | | | | Entity Total: | | \$4,551.41 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amoun | t: | \$4,551.41 |

Lake

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 7/2019 | 2,795 | 9,126 | 1,262 | 13,183 | \$16,478.75 | \$342.07 | \$16,136.68 | 0.70 | \$11,295.68 |
| | | | | | | | Entity Total: | | \$11,295.68 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amoun | t: | \$11,295.68 |

Lawrence

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 7/2019 | 7,917 | 16,695 | 188 | 24,800 | \$31,000.00 | \$639.00 | \$30,361.00 | 0.70 | \$21,252.70 |
| | | | | | | | Entity Total: | | \$21,252.70 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amour | ıt: | \$21,252.70 |
| Lincoln | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |

| 7/2019 | 4,200 | 22,981 | 1,713 | 28,894 | \$36,117.50 | \$808.83 | \$35,308.67 | 0.70 | \$24,716.07 |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| | | | | | | | Entity Total | : | \$24,716.07 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | int: | \$24,716.07 |
| Lyman | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 7/2019 | 1,136 | 1,764 | 129 | 3,029 | \$3,786.25 | \$84.82 | \$3,701.43 | 0.70 | \$2,591.00 |
| | | | | | | | Entity Total | : | \$2,591.00 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | int: | \$2,591.00 |
| Marshall | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 7/2019 | 1,666 | 2,809 | 12 | 4,487 | \$5,608.75 | \$116.16 | \$5,492.59 | 0.70 | \$3,844.81 |
| | | | | | | | Entity Total | : | \$3,844.81 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | int: | \$3,844.81 |
| McCook | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 7/2019 | 2,292 | 4,228 | 14 | 6,534 | \$8,167.50 | \$165.77 | \$8,001.73 | 0.70 | \$5,601.21 |
| | | | | | | | Entity Total | : | \$5,601.21 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | int: | \$5,601.21 |
| McPherson | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 7/2019 | 1,016 | 1,527 | 1 | 2,544 | \$3,180.00 | \$75.32 | \$3,104.68 | 0.70 | \$2,173.28 |
| | | | | | | | Entity Total | : | \$2,173.28 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | int: | \$2,173.28 |
| Moodo | | | | | | | | | |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 7/2019 | 3,710 | 17,747 | 246 | 21,703 | \$27,128.75 | \$583.76 | \$26,544.99 | 0.70 | \$18,581.49 |
| | | | | | | | Entity Total | : | \$18,581.49 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$18,581.49 |
| Mellette | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 7/2019 | 591 | 672 | 0 | 1,263 | \$1,578.75 | \$31.59 | \$1,547.16 | 0.70 | \$1,083.01 |

Entity Total:\$1,083.01Adjustment:\$0.00Total Amount:\$1,083.01

Miner

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 7/2019 | 1,021 | 1,601 | 49 | 2,671 | \$3,338.75 | \$73.01 | \$3,265.74 | 0.70 | \$2,286.02 |
| | | | | | | | Entity Total: | | \$2,286.02 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amoun | t: | \$2,286.02 |

Minnehaha

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|--------------|------------|------------------------------|-------------------|------------------------|
| 6/2019 | 0 | 0 | 1 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 7/2019 | 43,526 | 147,898 | 2,210 | 193,634 | \$242,042.50 | \$5,089.58 | \$236,952.92 | 0.70 | \$165,867.04 |
| | | | | | | | Entity Total: Adjustment: | | \$165,867.92 \$0.00 |
| | | | | | | | ۔ Total Amoun | t: | \$165,867.92 |
| Moody | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 7/2019 | 1,302 | 4,603 | 169 | 6,074 | \$7,592.50 | \$176.63 | \$7,415.87 | 0.70 | \$5,191.11 |
| | | | | | | | Entity Total: | | \$5,191.11 |

Adjustment: \$0.00

Total Amount: \$5,191.11

Pennington

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|--------------|------------|---------------|-------------------|---------------|
| 7/2019 | 26,113 | 78,041 | 1,545 | 105,699 | \$132,123.75 | \$2,817.56 | \$129,306.19 | 0.70 | \$90,514.33 |
| | | | | | | | Entity Total: | | \$90,514.33 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amoun | ıt: | \$90,514.33 |
| | | | | | | | | | |

Perkins

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 7/2019 | 1,767 | 2,275 | 6 | 4,048 | \$5,060.00 | \$111.32 | \$4,948.68 | 0.70 | \$3,464.08 |
| | | | | | | | Entity Total: | | \$3,464.08 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$3,464.08 |

Potter

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 7/2019 | 1,191 | 1,739 | 4 | 2,934 | \$3,667.50 | \$74.71 | \$3,592.79 | 0.70 | \$2,514.95 |
| | | | | | | | Entity Total: | | \$2,514.95 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amoun | ıt: | \$2,514.95 |

Roberts

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 7/2019 | 3,496 | 4,876 | 12 | 8,384 | \$10,480.00 | \$231.67 | \$10,248.33 | 0.70 | \$7,173.83 |
| | | | | | | | Entity Total: | | \$7,173.83 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amour | nt: | \$7,173.83 |
| Sanborn | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 7/2019 | 800 | 1,762 | 5 | 2,567 | \$3,208.75 | \$64.17 | \$3,144.58 | 0.70 | \$2,201.21 |
| | | | | | | | Entity Total: | | \$2,201.21 |

Adjustment: \$0.00 **Total Amount:** \$2,201.21 Spink **Reporting Period Telecom Lines** Wireless Lines VOIP **Total Lines** Surcharge Admin Fee Net Surcharge Entity **Entity Amount** Lines Percent 7/2019 2,011 4,525 14 6,550 \$169.54 0.70 \$8,187.50 \$8,017.96 \$5,612.57 Entity Total: \$5,612.57 Adjustment: \$0.00 **Total Amount:** \$5,612.57 Stanley

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 7/2019 | 723 | 2,152 | 17 | 2,892 | \$3,615.00 | \$76.63 | \$3,538.37 | 0.70 | \$2,476.86 |
| | | | | | | | Entity Total | : | \$2,476.86 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$2,476.86 |

Sully

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 7/2019 | 653 | 1,174 | 4 | 1,831 | \$2,288.75 | \$45.85 | \$2,242.90 | 0.70 | \$1,570.03 |
| | | | | | | | Entity Total: | | \$1,570.03 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amoun | t: | \$1,570.03 |
| Todd | | | | | | | | | |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 7/2019 | 0 | 66 | 3 | 69 | \$86.25 | \$10.65 | \$75.60 | 0.70 | \$52.92 |
| | | | | | | | Entity Total | : | \$52.92 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amount: | | \$52.92 |
| Tripp | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 7/2019 | 2,568 | 3,891 | 7 | 6,466 | \$8,082.50 | \$166.34 | \$7,916.16 | 0.70 | \$5,541.31 |

| | | | | | | | Entity Total | | \$5,541.31 |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| | | | | | | | Adjustment | | \$0.00 |
| - | | | | | | | Total Amount: | | \$5,541.31 |
| Turner | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 7/2019 | 2,266 | 6,171 | 28 | 8,465 | \$10,581.25 | \$214.55 | \$10,366.70 | 0.70 | \$7,256.69 |
| | | | | | | | Entity Total: | | \$7,256.69 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amount: | | \$7,256.69 |
| Union | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 7/2019 | 3,174 | 10,951 | 559 | 14,684 | \$18,355.00 | \$435.09 | \$17,919.91 | 0.70 | \$12,543.94 |
| | | | | | | | Entity Total: | | \$12,543.94 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amou | nt: | \$12,543.94 |
| Walworth | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 7/2019 | 2,125 | 3,616 | 104 | 5,845 | \$7,306.25 | \$148.34 | \$7,157.91 | 0.70 | \$5,010.54 |
| | | | | | | | Entity Total: | | \$5,010.54 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amount: | | \$5,010.54 |
| Yankton | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 7/2019 | 5,357 | 15,650 | 189 | 21,196 | \$26,495.00 | \$544.29 | \$25,950.71 | 0.70 | \$18,165.50 |
| | | | | | | | Entity Total: | | \$18,165.50 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amount: | | \$18,165.50 |

217,956 590,996 15,530 824,482 \$ 1,030,602.50 \$ 21,907.63 \$ 1,008,694.87

Totals